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Photon emission for (z,n)
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Photon emission for (n,2n)
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Photon emission for (n,a)
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Photon emission for (n,pa)

A\
=

0
100"

NOIHWEN




—i
AN
o
g
-l
O
Z
LLI
—
o
LL
@)
<
Z
O
=
ad
—
=
o
(@)
o
m
ad

~~
O
-
-
—
—
o
(€l
C
S
)
B
&
)
c
)
i’
)
e
ol

NS\NCOQ




ARY; T=0.K

LT

—
(Q\|
o
o
1
QO
Z
LL
=
x g
c
Cl-\
< 5
Nf
O 5
= »
x .9
= &
Me
c
mm S S ) R A
—\
Bm “o o 00
X o s = =

NS\NCOQ




RB0O90OM TRITON ACER TENDL-2021
Photon emission for (n,da)
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Particle heating contributions
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Particle production cross sections
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